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3.24 A continuous-time signal x(¢) has Fourier transform

1
X(w) = jo+ b

where b is a constant, Determine the Fourier transform V(o) of the following signals:
(@ v(t) = x(5t — 4)

(c) v(t) = x(t)e*
v(t) = x(f)*x(t)
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7[) From Table S, te concolTion in TTie
Fire —domain preperty o
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l/\) From [abl 3.2/ X/f)écabﬁu/{’) > Nlw) = J"—cf/—?b
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WVote fhat = X(-) = (D) e th T Tw-b
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for Table 3.0 Dualify progecty
X)) == 2mx(-=)

Per Table 3.0, Time rececsal pregey
X(-£) &> X[-)
Combinins % ws.ons /,\,,eﬁ,,;l,/
V(w)= =27 x() = -277 e/b w (W)




